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       Year Four 24/6/20  

Maths 
Fluency 

1. There is 57 pence.                     2.  There is 8 pence. 
There is 5 pounds.                          There is 7 pounds. 
There is £5 and 57p                        There is £7 and 8p.  
There is £5.57                                  There is £7.08 
 

 
3    357p = £3.57    307p = £3.07     57p = £0.57   370p = £3.70 
Reasoning - Rosie is correct. Whitney has not written the 6 p in the correct column. Teddy has not understood 
how many pence there are in a pound, therefore his place value is incorrect. 
Mastery 

 Never •  

 Sometimes e.g. £3.05 •  
 Never – she can only choose three coins so the largest amount she can make is £5 •  

 Always, because every coin is a multiple of 5 pence 

English 
Here are some representations of Hades, 
Charon and Cerberus in art work. I 
wonder if your pictures are similar? 

 

Foundation Subject – Science 
Human Threats Natural Threats 

Deforestation 
Water pollution 

Plastics 
Houses 

Invasive species 
Towns/cities - urbanisation 

Chemicals 
Air pollution 

Poaching 

Earthquakes 
Volcanos 
Droughts 
Storms 
Floods 

Hurricanes 
wildfires 

 

 

25p 

20p   5p 

£20 
£10   £5  £2                     
£2   £1 

20p 
10p   5p 
5p 

£13.06 
£10  £2  £1 
5p   1p 

Please note there 
is more than one 
possible way to 
complete this part 
whole model. 



 


